Cryptic Anacrostic

submitted by Annavan den Bergen and J. H. Turner,
Fremantle Hospital, Western Australia

Here’s how to do it. The diagram, reading across
only, contains a quotation from the nuclear med-
icine literature. Black squares represent word
endings. Fill in the defined words and place the
letters in the correspondingly numbered squares in
the diagram. The first letter of each answer in the
Words column, reading down, spells out the author
and the source of the quote. The solution will ap-
pear in the next issue of the JNMT.

Definitions

A. Initially this cat’s parent
added fifty to dumb money
exchanged for a cow.

B. Image recorder in Amer-
ica disturbed by loss of an
eye.

C. Hal's ire takes

pictures.

D. Confused confuse point-
less to sharpen image.

E. Lob me back a principle?
What a clot!

F. Every nodule excised re-
tains gallium. Yet starts a
mass conversion.

G. Annuls 400 mixed
checks.

H. CIA returned and caught
Thomas with a bomb.

|. Round rods are variably
slowed.

J. Stop nothing that is
roughly equal in atomic
number.

K. Dr. Bitrine surrenders
tenet to an electron track.

L. Athrombocyte will allow a
dish to begin.

M. Demi thumb to tie this
knot.

N. Near enough to a soft
professional, to mix in a
concoction.

O. Over head cover ar-
ranged for nothing.

P. Bewildered mothinlieu of
a collimator type.

Q. Stalactite lacking one
hundred gives Arthur an
item.

R. Calculate an increase in
axial tomography.

S. Stick the east instead and
toss out.

T. The end result of high
tension soup.

U. Thallium should have an
idea.

V. The electromagnetic
effect has a freezer.
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W. Bushed material with =~ ——— ———————
sheep fabric for “fluffiness 36 127 15510291 7 29 139119 74
between the ears.”

X. A 200 or 500 agree- 80 104 16138 82 28

ment.

Y. Lacking existence below
the bend for baseball term.

ish? @ = — — —
Z. Teach fish? 120 66 130 100 135 151

14084 116 170 24 58 182 103
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